National Testing Agency

Question Paper Name: 01 Economics 3rd Dec 2019 Shift 1
Subject Name: 01 Economics

Creation Date: 2019-12-03 14:39:37

Duration: 180

Total Marks: 300

Display Marks: Yes

01 ECconomics

Group Number : 1

Group Id : 61547526
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0

Group Marks: 300

PART I General Paper

Section Id : 61547557

Section Number : 1

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 42

Number of Questions to be attempted: 42

Section Marks: 100

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 615475185
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6154754129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) {(b). (c) and (d) (4) (d). (e) and (D
Options :

515475165101, 1
61547516102 2
61547516102, 3
E1547516104. 4

Question Number : 1 Question Id : 6154754129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547515101, 1
E15475168102. 2
51547516103, 3
51547515104, 4

Question Number : 2 Question Id : 6154754130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorals

Select yvour answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options :



E1547516105. 1
615475168106, 2
61547516107, 3
61547516108, 4

Question Number : 2 Question Id : 6154754130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

515475161051
615475168106, 2
61547516107, 3
61547516108, 4

Question Number : 3 Question Id : 6154754131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options :

5154751651051
61547516110, 2
61547516111, =
E15475168112. 4



Question Number : 3 Question Id : 6154754131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

5154751651051
61547516110, 2
61547516111, =
E15475168112. 4

Question Number : 4 Question Id : 6154754132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options :

E1547516113. 1
E1547516114. 2
51547516115 3
E1547516116. 4

Question Number : 4 Question Id : 6154754132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475161121
61547516114, 2
61547516115 3
E15475168116. 4

Question Number : 5 Question Id : 6154754133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options :

61547516117, 1
E15475168115. 2
E15475161143. 2
B1547516120. 4

Question Number : 5 Question Id : 6154754133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547516117, 1
615475161158, 2
E15475181143. 3
E1547516120. 4

Question Number : 6 Question Id : 6154754134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1) (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options :



E1547516121. 1
B15475168122 2
61547516123, 3
61547516124, 4

Question Number : 6 Question Id : 6154754134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547518121. 1
B1547516122 2
B15475168123. 3
61547516124, 4

Question Number : 7 Question Id : 6154754135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a). (b) and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options :

615475161251
61547516126, 2
E15475168127. 3
E15475161258. 4

Question Number : 7 Question Id : 6154754135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475161251



E1547516126. 2
B15475168127. 3
61547516125, 4

Question Number : 8 Question Id : 6154754136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem. defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarmables, hypothesizing. testing of research and reporting of

research outcomes

Options :

61547516129, 1
61547516120 2
61547516121, 5
61547516122 4

Question Number : 8 Question Id : 6154754136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

1547516129, 1
61547516120 2
61547516121,
61547516132 4

Question Number : 9 Question Id : 6154754137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options :

E1547518123. 1
E1547516124. 2
61547516135 3
61547516136, 4

Question Number : 9 Question Id : 6154754137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547518123. 1
E1547516124. 2
61547516135 3
61547516136, 4

Question Number : 10 Question Id : 6154754138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options :

61547516137, 1
E154751681258. 2
E1547516139. 3
51547516140, 4

Question Number : 10 Question Id : 6154754138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547518137, 1
61547516128, 2
61547516139, 3
E1547516140. 4

Question Number : 11 Question Id : 6154754139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options :

515475161411
61547516142 2
61547516142 3
615475165144, 4

Question Number : 11 Question Id : 6154754139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

515475161411
61547516142 2
61547516142 3
615475165144, 4

Question Number : 12 Question Id : 6154754140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options :

61547516145, 1
1547516146 2
£1547516147. 2
61547516148 4

Question Number : 12 Question Id : 6154754140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E15475168145. 1
E154751614E. 2
61547516147, 3
515475161458, 4

Question Number : 13 Question Id : 6154754141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options :

515475161491
61547516150, 2
61547516151, 3
615475165152, 4

Question Number : 13 Question Id : 6154754141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547516145. 1
E1547516150. 2
51547516151, 3
61547516152, 4

Question Number : 14 Question Id : 6154754142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (f)
(3) (a). (c) and (e) (4) (d). (e) and ()
Options :

6154751681531
61547516154, 2
61547516155 3
E1547516815E6. 4

Question Number : 14 Question Id : 6154754142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

5154751681531
61547516154, 2
615475165155, 3
E1547516156. 4

Question Number : 15 Question Id : 6154754143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements — one is labelled as Assertion (A) and the other 1s labelled as

Eeas=on (R).

Assertion (A) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 18 true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options :
1547516157, 1

E1547516158. 2
E1547516159. 3
B1547516160. 4

Question Number : 15 Question Id : 6154754143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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E1547516157. 1
615475168158, 2
61547516159, 3
61547516160, 4

Question Number : 16 Question Id : 6154754144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options :

E15475168161. 1
E1547516162. 2
BE1547516163. 3
61547516164, 4

Question Number : 16 Question Id : 6154754144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475168161, 1
615475161652 2
61547516162, 3
E1547516164. 4

Question Number : 17 Question Id : 6154754145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IfFx:y=7:9 then 3x—-by:4x+y=7?

- 24 —22
1 T 2
(1) 37 (2) 37
15 42
(3) — (2) —
22 37
Options :

615475161651
61547516166, 2
E15475168167. 3



E15475161658. 4

Question Number : 17 Question Id : 6154754145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
15475161651
61547516166 2
1547516167 2
1547516165 4

Question Number : 18 Question Id : 6154754146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If HPU =9, JNU =9, then DU =7

(1) 5 (2) 6
(3) 4 (4 7
Options :

E154751616%9. 1
E15475168170. 2
E1547516171. 3
BE1547516172. 4

Question Number : 18 Question Id : 6154754146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

af HPU=9,JNU=90, @iDU= 7

(1) 5 (2) 6
(3) 4 4 7
Options :

E154751616%9. 1
615475168170, 2
61547516171, 3
61547516172, 4

Question Number : 19 Question Id : 6154754147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) b3
(3) 63 (4) &3
Options :

615475161721
61547516174, 2
E15475168175. 3
B1547516176. 4

Question Number : 19 Question Id : 6154754147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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3. 13, 43, 53, 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options :

5154751681731
61547516174, 2
61547516175, 3
E15475168176. 4

Question Number : 20 Question Id : 6154754148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of money with compound interest becomes Rs. 2,400 in one vear and Rs. 3,000 1n two
vears. Find out the principal amount.

(1) Rs. 1,900 (2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options :

B1547516177. 1
B1547516178. 2
61547516175 3
61547516180, 4

Question Number : 20 Question Id : 6154754148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

E1547518177. 1
E1547516178. 2
61547516175 3
61547516180, 4

Question Number : 21 Question Id : 6154754149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options :

61547516181, 1
61547516182, 2
E15475168183. 3
E1547516184. 4

Question Number : 21 Question Id : 6154754149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) a4 (2) A
(3) == TH (4) I9EH
Options :

E1547516181. 1
B1547516182. 2
61547516183, 3
61547516154, 4

Question Number : 22 Question Id : 6154754150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3 Sub contrary (4) Subaltern
Options :

E1547516185. 1
B1547516186. 2
B15475168187. 3
615475161858, 4

Question Number : 22 Question Id : 6154754150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

51547516185, 1
61547516186, 2
E1547516187. 3
E154751681858. 4

Question Number : 23 Question Id : 6154754151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upam@ana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options :

515475161859, 1
61547516130, 2
61547516131, 3
E154751681352. 4

Question Number : 23 Question Id : 6154754151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

515475161859, 1
61547516130, 2
615475161391, =
E154751681392. 4

Question Number : 24 Question Id : 6154754152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umiversal Affirmative
Options :

E1547516193. 1
61547516154 2
61547516135 3
61547516136, 4

Question Number : 24 Question Id : 6154754152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

X, - r Al
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(1)  faem Aoy @) Taom i
(3) A FHy (4) TEEW e
Options :

£15475161392. 1
61547516134, 2
E15475161395 3
B1547516196. 4

Question Number : 25 Question Id : 6154754153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options :

615475161397, 1
615475161358, 2
E1547518139%9. 3
E1547516200. 4

Question Number : 25 Question Id : 6154754153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1) T (2) el w=im
(3) = (4) ¥ I
Options :

6154751651397, 1
E154751681395. 2
E15475161395. 3
B1547516200. 4

Sub-Section Number: 2
Sub-Section Id: 615475186
Question Shuffling Allowed : Yes

Question Id : 6154754154 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15,000 (2) 20,000
(3) 45.000 (4) 60.000
Options :

61547516201, 1
E1547516202. 2
E1547516203. 3
61547516204, 4

Question Number : 27 Question Id : 6154754156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales in
2001 1s

(1) 200% (2) 2b0%
(3) 300% (4) 350%
Options :

615475162051
61547516208, 2
E15475168207. 3
E1547516208. 4

Question Number : 28 Question Id : 6154754157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options :

E1547516209. 1
E1547516210. 2
E1547516211. 3
B154751621%2. 4

Question Number : 29 Question Id : 6154754158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options :

515475162121
61547516214, 2
61547516215, 3
E1547516821E6. 4

Question Number : 30 Question Id : 6154754159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (4) HCL
Options :

61547516217, 1
61547516218, 2
E1547516218. 3
B1547516220. 4

Question Id : 6154754154 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (26 to 30)
Cuestion Lakel COITlpI'EhEﬂSiOﬂ
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2001 20 40 50 80
2002 30 25 60 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

9 2002 F971 =9 2005 F &= T UHT FHoFA F DA °§ AT daw 7 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options :

61547516201, 1
E1547516202. 2
B1547516203. 3
61547516204, 4

Question Number : 27 Question Id : 6154754156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 2001 | 7E fohl 1 g1 °§ 79 2007 H wHE Fge i B T A wiiem 1 gig gs a v

(1) 200% (2) 250%
(3) 300% (4) 350%
Options :

E1547516205. 1
B1547516206. 2
B1547516207. 3
61547516208, 4



Question Number : 28 Question Id : 6154754157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

30 Fgel F UHR Fars faeehl Fe ki = @ a9 & e sAfuswas w0

(1) ey (2) A
(3) T (4) v=H A
Options :

B1547516209. 1
61547516210, 2
61547516211, 3
61547516212, 4

Question Number : 29 Question Id : 6154754158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T =9 v Fege =i et w1 oide B T Fen 1 w5 i g9 § afasan wm ot

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options :

515475162121
61547516214, 2
61547516215 3
E1547516821E6. 4

Question Number : 30 Question Id : 6154754159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T WHEF(E F FF F AW wase, Fed i § a9 2001 T =9 2007 F SR Haq e 5

(1) SEIE] (2) T
(3) T (4) v= A
Options :

61547516217, 1
E15475162158. 2
E1547516219. 3
B1547516220. 4

Sub-Section Number: 3
Sub-Section Id: 615475187



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In computer related activities. which of the following 1s inappropriate for descrbing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options :

615475168221, 1
E1547516222 2
61547516223, 3
BE15475168224. 4

Question Number : 31 Question Id : 6154754160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FOI H GETad Tataradl § Sl 9T FHaEE F 9 F o Hefaiad 8 3 ®E 93999w 2

(1)  =Hmer (2) =uEen
3) I (4) F=F
Options :

BE1547516221. 1
B1547516222 2
E1547516223. 3
61547516224, 4

Question Number : 32 Question Id : 6154754161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following 13 most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) Java
(3) C (4) SQL
Options :

B1547516225. 1
B1547516226. 2
B1547516227. 3
E1547516228. 4

Question Number : 32 Question Id : 6154754161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) ©oe e (2) =
@ (4 T T
Options :

BE1547516225. 1
B1547516226. 2
B1547516227. 3
E1547516228. 4

Question Number : 33 Question Id : 6154754162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options :
61547516229, 1
61547516230 2

61547516221, 3
61547516232, 4

Question Number : 33 Question Id : 6154754162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (A) =1 (R) 3F1 &8l 2 = (R). (A) i 5 =amen 2

(2) (A) =R (R) 3FT & 7, Fd (R). (A) Fi @81 =megn 941 2
(3) (A TF 2, M R) 7E 2

(4) {A“}ﬂﬁﬁﬁﬁ:ﬂ]nﬁ%

Options :

61547516229, 1
61547516220 2
£15475168231. 2
61547516222 4

Question Number : 34 Question Id : 6154754163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharva
(3) e-Kalpa

(4) e-Yantra

Options :

E154r516233. 1
E154r516234. 2
£1547516235. 3
£1547516236 4

Question Number : 34 Question Id : 6154754163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

£154r516232. 1
E154r516234. 2
E154r516235. 3
£1547516236. 4

Question Number : 35 Question Id : 6154754164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following tools 1s a collaboration tool for providing wirtual eclassroom

environment?
(1) A-Tab
(2) A-View
(3) A-Tutor

(4) A-Tearner

Options :

61547516237, 1
61547516238 2
61547516239 2
615475168240 4

Question Number : 35 Question Id : 6154754164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3) TR

(4) T
Options :

E15475168237. 1



E1547516238. 2
B1547516235. 3
61547516240, 4

Question Number : 36 Question Id : 6154754165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(h) construction debris
(c) wet lands
{d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2) (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options :

515475162411
E1547516242 2
61547516242, 3
E1547516244. 4

Question Number : 36 Question Id : 6154754165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
oM, v I wEE 74, Fetatad § ° fFEg St s A ¢

“.-'” E-;.-:!:fa{"':q
(b) =M = F T
(¢) =AY

=

(d) - UIEE

frrferfis 5 @ w4 Fre

(1) (a). (b) =T (d) (2)  (a). () = (d)
(3) e (a) FN (e) (4) TFae (a) =R (d)
Options :

61547516241, 1
E1547516242 2
E1547516243. 3
B1547516244. 4

Question Number : 37 Question Id : 6154754166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options :

61547516245 1
E154751624E. 2
E1547516247. 3
E15475162458. 4

Question Number : 37 Question Id : 6154754166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) adE (2) TR 3 T

(3)  TATEEm (4) iR
Options :

51547516245 1
61547516246, 2
E1547516247. 3
E15475162458. 4

Question Number : 38 Question Id : 6154754167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options :
15475162459 1



E1547516250. 2
61547516251, 3
61547516252, 4

Question Number : 38 Question Id : 6154754167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(1) Y-9rfa, AMigh R a2adl arii-a= a3k

(1)  TEE TR AT e

(111) I =HTF TE TFI-T 1:r::13:ﬁ 1T T TS T 9 T T =

(iv) TFEE T9EETE

Fetefias fepe 4 9 991 F9E A
(1) (1) 3T (iD)
(2) (i) 3 (iii)
(3) (iii) #T (iv)
(4) (1) 3T Gv)
Options :
61547516249, 1
61547516250, 2

BE1547516251. 3
B1547516252. 4

Question Number : 39 Question Id : 6154754168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A green building

(1) uses mimimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy living

Choose the correct statements from the options given below :

(1) (D). (1) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4)  (w). () and (v)
Options :
61547516253 1
61547516254 2
E1547518255. 3
E154Y5168256. 4

Question Number : 39 Question Id : 6154754168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(v) T e S o w=E gEe e 2
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(1) (). (i1) 377 (iid)
(2) (). (iv) T (v)
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(4) (). (iv) FHT (v)

Options :

61547516253, 1
61547516254 2
615475168255 3
61547516256, 4

Question Number : 40 Question Id : 6154754169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs

(3) Earth Science (4) Housing and Urban Affairs

MY TS TEEH W9 FefAtEd § O g o i oF v 57

(1) = (2) TEwE
(3) gl s (4) HEE AT TR T
Options :

61547516257, 1
E1547516258. 2
E1547516259. 3
B1547516260. 4



Question Number : 40 Question Id : 6154754169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

BE1547518257. 1
E1547516258. 2
61547516259, 3
B1547516260. 4

Question Number : 41 Question Id : 6154754170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) "Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options :

61547516261, 1
61547516262 2
1547516262 2
61547516264 4

Question Number : 41 Question Id : 6154754170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
freafofaa o=t 3 @ wwdm fen i oot wore = fafre @Em 1 9w=m fi

(1) T F I9E Y T 38 AT & =9 W

(2)  favaw # UR W AEFs qE

(3)  HAFH F AU T i TaeRiEd

(4)  TITHATOAE - AR U WY = 39 5 SAgE

Options :

61547516261, 1
61547516262 2
61547516262 5
61547516264, 4



Question Number : 42 Question Id : 6154754171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options :

BE1547516265. 1
B1547516266. 2
G1547516267. 3
61547516268, 4

Question Number : 42 Question Id : 6154754171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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27
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Options :

61547516265, 1
E1547516266. 2
BE1547516267. 3
B1547516268. 4

Question Number : 43 Question Id : 6154754172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options :
61547516269, 1
61547516270 2
61547516271, 2
61547516272 4

Question Number : 43 Question Id : 6154754172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  TrgE forer Hia-1968

(2y U e iE-19386

(3) YA =iurel o= UF FEHAT Ad-2015

(4) i AEE-EEE FEEE-gE-2017-18 T 2019-2020
Options :
51547516269, 1
61547516270, 2

61547516271, 3
BE1547516272. 4

Question Number : 44 Question Id : 6154754173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Non-traditional teaching and learning strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (1), (1) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options :

61547516273 1
61547516274, 2
BE15475168275. 3
B1547516276. 4

Question Number : 44 Question Id : 6154754173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1) ). @G) 37 @) (2) @), (i) 7 (iv)

(3) (). (iv) ¥ (v) 4) (1), (iv) =T (v)
Options :

BE1547516273. 1
B1547516274. 2
E1547516275. 3
61547516276, 4

Question Number : 45 Question Id : 6154754174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humlity in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1). (111) and (v1)
(2) (1), (1v) and (v)
(3) (11). (11) and (v)
(4) (1), (11) and (v)

Options :

E154r516277. 1
B154r516278. 2
£1547516279. 3
£1547516280. 4



Question Number : 45 Question Id : 6154754174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5= 21 i T= 6 F faem =9 9 weeRs At (Suim) # Hetia g 1 mee Fiw

(1) M | A9-a5%

(i) = = IEAEEAT
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(iv) o= Feem

) 7 R i % v A e fren

(vi)  WEImE e

fefefEa TFeT 5 9 391 1 == Fia
(1) (@), (i) #W (vi)

(2) (i), Gv) #E ()

(3)  (ii). (1) A (iv)

@)  (@). () 37 (v)

Options :

61547516277, 1
61547516278 2
B15475162749 3
61547516250, 4

Sub-Section Number: 4
Sub-Section Id: 615475188
Question Shuffling Allowed : Yes

Question Id : 6154754175 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Read the passage carefully and answer gquestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
mntelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of strugele. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter
exploitation and labour grievances were all themes taken over by middle class nationaliam

later.
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What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options :
154751628101
1547516282, 2
1547516282 2
1547516254, 4

Question Number : 47 Question Id : 6154754177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The popular movements were

(1) against imperalists (2) against their masters
(3) conscilously violent (4) time bound
Options :

61547516285, 1
61547516286, 2
E1547516287. 3
E1547516288. 4
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According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control
(3) lack of continuity

(4) quite timely

Options :

E1547516289. 1
E15475162390. 2
E154r516291. 3
£1547516292. 4
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The pre-war popular movements were of

(1) uniform social form (2) 1nsigmificant value
(3) middle class nationalism (4) specific gain at times
Options :

615475168253, 1
61547516234, 2
61547516235 3
E15475168236. 4
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Correct Marks : 2 Wrong Marks : 0

What 1s the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options :

B1547516297. 1
B15475162398. 2
61547516255, 3
61547516200, 4
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Correct Marks : 2 Wrong Marks : 0
Arrange 1n chronological order the following economists in relation to thenr contribution to
the Theorv of Consumer Behaviour. Choose the correct answer :
(1) A. Marshall. R. Stone. P. Samuelson. J.R. Hicks and R.G.D. Allen
(2) R. Stone. P. Samuelson, J.R. Hicks and R.G.D. Allen and A. Marshall
(3) P. Samuelson. J.R. Hicks and R.G.D. Allen. R. Stone. and A. Marshall
(4) A. Marshall. J.R. Hicks. R.G.D. Allen. P. Samuelson and R. Stone

Options :

615475163011

61547516302 2

1547516303 2

1547516204 4
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